H H & P =

2024.10.8 REBRENBHA ﬁ*‘:&: Jﬂu

= 55902988 559995
28" SHHE8HR 24 INFEE R 96060

5 ‘

00015" >

SN FEE (EHEEIER N E

iT5 A (B EEA B 558 58.06 125

2024 FiE N/REEZ Rk

“}\d\%ﬁ”ﬂﬁfﬂfld\RNA “BLAEWR

TR -
SR - S

XTSIk
i& 1= Frz ?

EEWRERRE, NEFE H%!ﬁ ﬁﬁiﬁ@ﬁﬂ)ﬁ,Aﬂﬁé\%ﬁj{ﬂaéﬂg

x5 | A= ZEREE14CT~23C #i £=15C~23C %% £=16CT~23C i PEEZ R 14C~22C i BEIZ= 11C~23C ETE SRIWE12C~21TC HiE Z2REEE 13T ~22T
PR | % SEFE13C~22°C ik ZREE 13°C~21C il BRESREIRE 14C~22°C = ZREEE 13CT~22C $HiT £ 15C~23T FiE = 14CT~21C 5§21l 2R 13°C~23C




